TPMHOJI C TpeMsda CTeIlleHAMU CBOGOJIBI

[Fl—D-Method
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f 1;=[X 4= X 7] +[X 5 X 8] +[X ¢~ X 9] -a 2 [HHMHa CTOPOHE BEPXHETO TpeyroanMKa]

f 2;=[X 1% 4] +[X ,— X 5] +[X 53— X 6] —-a 2 [HHMHa CTOPOHHE BEPXHETO TpeyroanMKa)

2 2 2

f ;=[X 1= X 7] +[X o X 8] +[x 3= X 9] -a 2 {HﬂMHa CTOPOHH BEPXHETO TpeyroanMKa]

Uepes kaxXOylo WTAaHTYy M OChb OZ NpOBOIOMM BEepPTUKAJIBHYI INJIOCKOCTHb

f 4:: X 2 [Bep‘I‘VIKaJ’IbHaH IImockocTe AOD]

£ 5:=(_4[§j.x S-Xg (BepTMKaﬂbHaH MIJIOCKOCTH COD]

f 6:=,/?. X 4 x 5 [Hnocxocmb BOD]
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£ J=X 6+4.25'Sin[0.1-[x 4]]—0.19vsin[15v(x 9]] [IIOI’IOJ'IHI/I'I‘eJ'IbHaH CBA3bL OJIg NPUBEIESHUA K W=1]
X 3+ X o+ X g
£ 8;=—+0.1.5in[1.5.x 3] [I[ononHmmeanag CBA3L I NPUBENEHUS K W=1]
3
tmin:=0 -4 -4 tmax N=20
tmax:=40-10 At:=2-10 N:=
At
=

BB:= eval(submatrix(D(XO , tmin , tmax , N), 1, N+1, 2, rows (f)+ 2)]

B:=eval (stack (BB , reverse (BB])]

Bl:= eval(submatrix(B ,1,2N,1, 3))
B2:= eval(submatrix(B ,1,2:N, 4, 6))

B3:= eval(submatrix(B ,1,2N,7, 9))

XA yA zA
xB yB zB
xC yC zc|
XA yA zA

Bll:=eval (Bl-y)
B33:=eval(B3-y)
B22:=eval (B2 y)

x1(k, t)= eval[col (B11, k) t+1]

x2(k, t)= eval[col (B22 , k) t+1]

x3(k , t)= eval[col (B33, k) t+1]
x1(1, t)+=x2(1, t)+x3(1, t)

Cl(t)=eval 3

x1(2, t)+x2(2, t)+x3(2, t)
3

c2(t)=eval

ax(t)=col (B1, 1)t+1 ay(t)=col(B1, 2)t+1 az(t)=col(B1, 3)t+1

bx(t)=col (B2, 1) fe1 by(t)=col (B2, 2) N bz (t)=col (B2, 3) N

cx(t)=col (B3, 1) fel cy(t)=col (B3, 2) N cz(t)=col (B3, 3) N



(bx(t)-ax(t) by(t)-ay(t) bz(t)-az(t)) )

Ba(t)= 2 2 2
'J(bx(t]-ax(t]) +(by(t)—ay(t)) +(bz(t)—az(t)]
CA(t):= (cx(t)—ax(t) cy(t)—ay(t) cz(t)-az(t))T .
(o (6)-ax (£) 2+ by (6)- ay(t) Z # (b2 (6)- az ()
T
V(t)=eval [BA(t) Vy(t)=eval [BA(t)xCA(t] T]~y
cosa(t V(t) = cosB V(t) 2
2 2
H(o60,) o) [0 ) RN ETIRTEE
v(t)
cosy(t .
2
«/[V(t v(t), +[V(t] 3]
otl(t):=—Re(acos(coscx(t)))+% (pl(t):=Re(acos(cosﬁ(t)))—% y1(t)= acos(cosy(t))
vi(t)=0a3(v1(t)) 2(e1(t)) Q1 (x1(t))
%~(H;Iu)~sin(v] %-sin(v) 0.08~jin(v]
FO(u, v)= %~(H;Iu)~cos (v) F1(u, v)= %-cos (v) 0.08-cos (v)
0.9-r-u Iy
1

el(t)::CreateMesh(FO(u ,v),0,1,0,2m,5, 10)~y1(t]

c2 (t):= augment [col (el (t) , 2) , col (el(t) , l] , col (el(t) , 3])

cone (t)=eval [augment (col (c2 (t)v, 1)+ ci(t), col (cZ (t)v, 2]+ C2 (t))]

d1(t)=createMesh(F1(u, v), 0, 0.1, 0, 2-m, 4, 20)-y1(t)

d2 (t)=augment (col(d1(t), 2), col(d1(t), 1), col(d1(t), 3))

dno (t)=eval [augment (col (d2 (t)v, l]+ ci(t), col (d2 (t) v, 2]+ C2 (t))]




cl=CreateMesh(F3(u, v),-0.15, 0.15, 0, 2:m, 5, 10)

2.1
1-v-03|&—=

cl3:=eval

c1-y-Q3[(_2)'H]]

3

cll:=eval (C1Y) cl2:=eval

cill:=eval|augment [col (c11, 1)+ col (By, 1) 1 col(c1ll, 2)+ col(By, 2) 1]

cil2:=eval augment[col (c12, 1)+ col(By, 1) o col(c12, 2)+col(By, 2) 2]

col(c13, 2)+col(By, 2) 3]

cil3:=eval|augment [col (c13, 1)+ col(By, 1) 3




